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1.

Which part of the brain performs all

cognitive, emotional and motor
activities?

(A) Forebrain

(B) Midbrain

(C) Hindbrain

(D) None of the above

An increase in the size of body parts or
of the organism as a whole is called-
(A) Growth

(B) Development

(C) Maturation

(D) Evolution

Which of the following is not a system

of memory according to the stage model
of memory?

(A) Sensory memory
(B) Shortterm memory
(C) Longterm memory
(D) Working memory

To think more about the relationship
between objects and backgrounds is
called -

(A) Analytical thinking

(B) Holistic thinking

(C) Rational thinking

(D) None of the above

"Wanting to eat when one is over-
weight" is an example of which type of
Conflict?

(A) Approach - Approach Conflict
(B) Avoidance - Avoidance Conflict
(C) Approach - Avoidance Conflict
(D) None of the above

P.T.O.
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Who devised the Concept of Intelligence
Quotient (1.Q.)?
(A) William Stern
(B) Terman
(C) Ross
(D) Binet

At present Psychology is called as the
science of -

(A) Soul

(B) Mind

(C) Behaviour

(D) Conciousness

Which among the following is NOT a

Projective test?

(A) Rorschach Inkblot test

(B) Thematic Apperception test (TAT)
(C) Draw-a-Man test

(D) MMPI

A teacher should study Educational

Psychology so that -

(A) He may stand first in his exams.

(B) Hemay develc;p the effectiveness
of his teaching through its help.

(C) He may feel self satisfaction.

(D) He may impress others.

A child is getting spoiled in bad

company. What would be your duty as

a teacher?

(A) To contact his parents.

(B) Toignore him.

(C) To counsel him by taking him in
confidence.

(D) To scold him.
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According to Piaget in which stage of
Cognitive development hypothetical
thinking develops?

(A)
(B)
(C)
(D)

Sensory motor
Pre operational
Concrete operational

Formal operational

"An intelligence test may be fully
verbal, fully non-verbal or fully
performance based or it may consist of
a mixture of items from each
Category." This statement is -

(A)
(B)
©
(D)

True
False
Undecided

Not clear

Personality is characterised by the
fdllowing features -

(1) It has both Physical and
Psychological components.
(2) Its expression in terms of
behaviour is fairly unique in a given
individual.

(3) Its main features do not easily
change with time.

Which of the following option regarding
characteristic of personality is correct?
(A)
(B)
©

(©)

Only (1) and (2) is correct.
Only (2) and (3) is correct.
All the characteristics are false.

All the characteristics are true.

P.T.O.
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"Turning the head and opening the
mouth when touched on the cheek"
comes under which type of reflex in
the New Born?

(A) Rooting
(B) Moro
(C) Grasp
(D) Babinski

Which of the following is NOT a major

challenge faced by adolescents?
(A) Delinquency

(B) Substance abuse

(C) Eating disorders

(D) Insecurity and dependéncy

Responses that lead organisms to get

rid of painful stimuli or avoid and .

escape from them, provide which type
of reinforcement?

(A) Positive reinforcement

(B) Negative reinforcement

(C) Delayed reinforcement

(D) Partial reinforcement

According to whom, the process of skill
leamning passes through three phases viz.

cognitive, associative and autonomous?
(A) Fitts ‘

(B) Tolman

(C) Bandura

(D) Kohler
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Which type of children have poor
motor co-ordination and poor manual
dexterity?
(A) Hearing impaired
(B) Gifted children
(C) Learning disabled

(D) All of the above

Which of the following is not a stage of
memory?

(A) Encoding

(B) Storage-

(C) Retrieval

(D) Attention

The reasoning from "General to particular”
is called-

(A) Inductive Reasoning

(B) Deductive Reasoning

(C) Analogical Reasoning

(D) Creative Reasoning

Which type of thinking abilities
generally include fluency, flexibility,
orginality and elaboration?

(A) Lateral thinking ‘

(B) Vertical thinking

(C) Convergent thinking

(D) Divergent thinking

PITIO.
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According to Abraham H.Maslow's
Hierarchy of Needs, which need is on
the bottom among the following needs?
(A) Physiological needs
(B) Safety needs
(C) Belongingness needs

(D) Esteem needs

Which of the following is NOT a
Psychosocial motive?

(A) Need for achievement

(B) Need for affiliation

(C) Hunger motive

(D) Need of power

Anorexia nervosa, bulimia nervosa and
binge eating comes under which group
of disorders?

(A) Feeding and Eating disorder

(B) Specific learning disorder

(C) Autism spectrum disorder

(D) Neurodevelopmental disorder

The knowledge of which of these is most
essential for a teacher of primary class?
(A) Child Psychology

A (B) Education philosophy

(C) Health science
(D) Social science

Which of the following cannot be
included under Child Psychology?

(A) Child-Welfare

(B) Psychoanalysis

(C) Mental health science

(D) Education philosophy
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Child Psychology deals with the study
of -

(A)
(B)

Child from his birth to childhood
Child from his pre-natal stage to
adolescénce

(&)
(D)

Child from his birth to mature stage

Child from his birth to youth stage

Which method is used ;o study the
change of behaviour in a child?

(A)
(B)
(©)
(D)

Interview method
Questionnaire method
Clinical method

Experimental method

What should be done by the parents to
prevent Juvenile delinquency?

(A) Scold the children.

(B) Behave sympathetically and
positively with children.

(C) Beat the children.

(D)

None of the above

Which method establishes cause-effect
relationship between two sets of events

or variables in a Controlled setting?
(A)
(B)
(®
(D)

Observational method
Experimental method
Correlation research

Survey method

P.T.O.
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First Language — English

XXI-2

Directions (Q.No. 31-35) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate option.

It is no doubt true that we cannot go
through life without sorrow. There can be no
sunshine without shadow, we must not
complain that roses have thorns but rather
be grateful that thorns bear flowers. Our
existence here is so complex that we must
expect much sorrow and suffering. Many
people distress and torment themselves about
the mystery of existence. But although a
good man may at times be angry with the
world, it is certain no man was even
discontented with the world who did his duty
in it.

The world is like a looking-glass; if you
smile, it smiles; if you frown, it frowns back.
If you look at it through a red glass, all seems
red and rosy; if through a blue, all blue; if
through a smoked one, all dull and dingy.
Always try, then, to look at the bright side
of things; almost everything in the world has
a bright side. There are some persons whose
very presence seems like a ray of sunshine
and brightens the whole room. Greet everybody
with a bright smile, kind words and a pleasant
welcome. It is not enough to love those who
are near and dear to us. We must show that
we do so. While, however, we should be
grateful, and enjoy to the full the innumerable
blessings of life, we cannot expect to have
no sorrows or anxieties. Life has been
described as a comedy to those who think,
and a tragedy to those who feel. It is indeed

SET-C
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tragedy at times and a comedy very often,
but as a rule it is what we choose to make.

31. What is the central idea of the above
passage?
(A) lifeis complex
(B) life is how we perceive or make it
(C) lifeis pleasant
(D) life is a mystery of existence
32. Which of the given statements is true
in view of the above passage?
(A) Life has no sunshine or shadow.
(B) Love only those who are near and
dear.
- (C) Look at the bright side of the
things.
(D) The world is distressful.
33. means dark and gloomy.
(A) dingy
(B) torment
(C) frown
(D) anxieties
34. 'Roses have thorns' symbolises
in the given passage.
(A) complain
(B) beauty
(C) perseverance
(D) adversity
35. Why is our existence so complex?
(A) because it has both pain and
pleasure .
(B) because we think that it is red
and rosy.

(C) because we think it is comedy.
(D) because we don't greet people
with smile.
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Direction (Q.No. 36 — 40) : Read the poem

given below and answer the questions
that follow by selecting the most
appropriate option.

Slowly, silently, now the moon

Walks the night in her silver shoon;

This way, and that, she peers, and sees

Silver fruit upon silver trees;

One by one the casements catch

Her beams beneath the silvery thatch;

Couched in his Kennel, like a log,

With paws of silver sleeps the dog;

From their shadowy cote the white

breasts peep

Of doves in a silver-feathered sleep; V

A harvest mouse goes scampering by,

With silver claws and a silver eye;

And moveless fish in the water gleam,

By silver reeds in a silver stream.

36. Name the object in the landscape that

37.

catches the poet's eye -
(A)
(B)
©
(D)

moon
night
silver
water

Pick out the words or lines in the poem
which suggest the quiet and stillness
of the night. |
- (A) Her beams beneath the silvery
thatch |
Couched in his Kennel, like a log
Shadowy cote the white breasts
peep
harvest mouse goes scampering
by

(B)
©

(D)

SET-C

[15]

38.

39.

40.

41.

42,

43,

XXI-2

'Cote' means (choose the most
appropriate option) -

(A) zone in water where fishes live
(B) rat's burrows

(C) coop where birds are kept

(D) where doves live

Identify the figure of speech in-

"the moon/walks the night in her silver
shoon;/This way, and that, she peers,
and sees"

(A) Simile

(B) metaphor

(C) pun

(D) personification

Which word in the poem means
'running quickly'? |

(A) Scampering

(B) Kennel

(C) Peer

(D) Couch

In which of the following options
antithesis is used -

(A) hypocrisy is the homage vice pays
to virtue. .
Ruin seize thee, ruthless king!

I rejoiced at the happy sight.
Man proposes, God disposes.

(8)
©)
)

Which of the foreign words mean 'in
good faith'?

(A) exgratia

(B) bonafide

(C) sinedie

(D) bon voyage

Select the verb that takes the
preposition 'in' after it -

(A) depend

(B) indulge

(C) intrude

(D) coincide

P.Tlo-
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44,

Select the incorrect pair from the given

options in view of the varying kinds of -

talking habits -

(A) taciturn - unwilling to engage in
conversation
(B) laconic - using few words packed
with meaning
(C) garrulous - chattering meaning-
lessly
(D) vociferous - soft and fluent
45. Replace the underlined words with one
word in the given sentence-
The bishop's address on religion and
morals was the best we had this year.
(A) speech
(B) sermon
(C) address
(D) hymn
46. Which of the following is not a
characteristic of language?
(A) itis primarily vocal
(B) itisinarbitrary
(C) itis system of systems
(D) itis a form of social behaviour
47. Choose the most inappropriate option
regarding the imporfance of evaluation
in education -
(A) It is to evaluate student's
performance.
(B). It is to evaluate teacher's
activities.
(C) It is to evaluate programme or
curriculum.
(D) Itis to keep the record for future
reference.
SET-C

[16]

48.

49,

50.

51.

52.

- (©)

XXI-2
describes all forms of human
communication that are not verbal.
(A) Prosody
(B) Intonation

Para language
(D) Vocalics

Name the psycholinguist who gave the
theory of operant conditioning to study
learning process -

(A) Skinner

(B) Thorndike

(C) Piaget

(D) Bloom

Looking quickly over a textbook to get
a general or superficial idea of the
content is called -

(A)
(B)
(o)
(D)

scanning
extensive reading
intensive reading
skimming

A warkshop is meant for -

(A) Hands-on-experience

(B) Listening to the scholarly lectures
(C) Learning through interaction

(D) Discussing one's own new work

Fill in the blanks with the most
appropriate infinitive in the given
sentence -

We get vaccinated
(A)
(B)
(©)
(D)

smallpox.

to avoid
to cure

to keep off
both (A) and (B)
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53.

54.

55.

Name the underlined part in the following
sentence-

Let's go to the beach, shall we?

(A) apostrophe

(B) interrogative remark

(C) question tag

(D) gerund

'To call a spade a spade' - means-
(A) hurt someone

(B) speak straight forward

(C) bully somebody

(D) expose the reality

Change the degree of given superlative

sentence to positive- | _

Mumbai is the best seaport in India.

(A) Mumbai is better than any sea
portin India.

(B) No seaportis as good as Mumbai
in India.

(C) No other seaport in India is so
good as Mumbai. |

(D) Mumbai is one of the best

seaports in India.

56. Puteach word in proper order and make
meaningful sehtence-
watched/we/pass by/the procession
(A) We watched the pass by
procession.

(B) We watched the procession pass
by.

(C) The procession we watched pass
by.

(D) Pass by the procession we watch.

SET-C

57.

58.

XX1-2
Select the word closest in meaning to
the underlined idiom-
It is mean to crow over a fallen foe.
(A) tokill
(B) totriumph over
(C) toargue upon
(D) to scold

Select the grammatically correct

statement from the following -

(A) They wished me to drink with
them, but which I denied.

(B) Do not forget his enthusiasm who
brought this movement so far.

(C) Imet him on last Friday.

(D) Thisisthe man who I talked about
this morning.

Direction (Q.No. 59) : Change the sentence

59.

60.

into passive -

'Some boys were helping the wounded

man.' .

(A) Some boys helped the wounded
man.

(B) The wounded man was being
helped by some boys.

(C) The wounded man has been
helped by some boys.

(D) The wounded man is being helped
by some boys.

Choose the correctly spelt word in the
following -

(A) conssumate

(B) incorrigible

(C) benefection

(D) dilligent

P.T.O.
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61.

62.

63.

64.

65.

o7 fgeha - =

XXI1-2

ffafea & ¥ -1 U= ¥Ra-
fave o smenRa T8 &7

(A) ER® ST

(B) 3mer Tilg

(C) 99

(D) oTwE

ArgHTT e & fawa § s wue -
(A) ATFHTST f3TeoT ¥ SE®  Hiex
Aifers faeRt @1 smRer 2 2
(B) FIGHNT § WY SFITRUTHS & F

BIHR WaHS S 25T 2
(C) it & FAI-Ai ¥ way e
&G AgHTT f¥reror Sy srawae 2
(D) &N aos & wohie amERT 3
HIGHTST BT Jede] a8 &1 25em 21

o=l N 5 wror @ ey B o B @
TR fobar ST afe?

(A) 3ERY T 9t B ge IRl

(B) viEi & oo
(C) g & Fmior @
(D) 3w # & BIF el

SETT Y Foreey T ST T A BT

usar &1 98 o G ¥ o 2?
(A) femaiforan
(B) fEanfear

(C) Fexdbegpiorar
(D) fFEfRaar

URD! & AR -

(A) HIGT @01 I & Al Fmar &l

(B) T WrEH ¥ WHIS & WIH HaaR
=

(C) T % cerar faamed & wie gy &l

(D) wiftp ear s=dsTd axdl &l

SET-C
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66.

67.

68.

69.

70.

;ﬁﬁﬁaﬁésw-ﬁmﬁmmm
(A) o1 & Frog Raar ax

(B) @Ml T @1 wgudnT o :
(C) & 9fts 3R Ricdw @1 agmr 39
(D) URT-UF® &1 Hewayel e dax

THUH @ IR Ot g N s T g
&1 g # sme W, A ure

(A) o

(B) Hda™

() frar-faggor

(D) aaIe®

'3& HTiS’ UlHdT BT U fhd IR 9
8T om?

(A) TRTOTE

(B) gcEEE

(C) BRI

(D) ST

P B3 arene, U T¢ Mikax 1)
S PURY &TTeT, Fal Tebel PieTHel &8 ||’

3gs dfeedl # BiF-wr Be 22
(A) <

(B) WRar

(C) smaf

(D) Trgan

e AN
() Py 1. sgdf
(@) JaraR 2. agEY
(M wlafes 3. 3V
() YRUmTE fa
mﬁgﬁi‘aﬁﬁﬁu—

(® @ (M ((m)
(A) 2 3 1 4
(B) 4 3 1 2
(C) 2 1 3 4
(D) 4 1 3 2
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e : Fpafifag I & UgaR IO e Sl

71.

72.

(5o wwEgT 71 q 75 a®) & walftiw 3fua
IR a1 [APeq @ T el

frfty @t anfaseR waR & aF 7 @Rl
T2 wifey o eafy W sracifRa fify & R
& of wFa 3w & R aifeafs &
3 o el &y fow o feafal
a7 TR $¥0 aRE & vH WA ATl AR
o f3fer ot Y o g@en grr el
gor ar ffy & e wga axal o
ferafeifd simar § S =6 &, swfee st
HiRaw st ol o wr § Wwa &Y
g1 3avas gar 8, fux o qHF
yrifieriee wHa 3 waR & e amt 3§
$9 o Sien o i feanl eermer &
o6 T A [Fafha dex sifsdmmes @1 wg
ol gy Rafaft or daftia v a1 3ik
s Refodl sk gemsit & sRediaRoT &
-1 30 faaRI @ 3i¥eats o s
oifcs | ol Udile 3@ daa axgant 3k
Rerferat @1 fermor =18 a_a 9, 3791 Haiftra
foaRT 3R ael o1 9 s =a Al

‘Feaforfy @ &2

(A) T ger 1 fafteg s

(B) T Rfa & femr &0

(©) foit o &Y Sjwemeg Al g
Frfer |

(D) =it we o aRfRIfy & paar

e

foft & anfawr @1 waffts yumg fog &
q g

(A) TRG-IHRE o

(B) FOR & &F d

(C) =R & faery o

(D) #iRas sifyeafs W

- SET-C
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73.

74.

75.

76.

XXI-2
‘iz @y farde &-
ang faart & erifia aifreais
IWITH W A B TE

(A)
(B)
(€)
(D)

Fafeftr & faoa & T T 2- |

(A) Femfafa & gd sifearmesr &1 aa=
o

(B) Femfeafy @ w@er W fagm & e
g

(C) Temferf argd foemi & weqifer o wam
2l ‘

(D) Femafefa &1 Sau 9 oo & ==
Aad

B & v F /e @ @-

(A) siffedmme R o fHehe w9
gl

(B) siffdrmd yde wawen w® ameRa
gl

(C) sifisdrmet & yeer gedl & wRefa
& a2

(D) 3iifsARMe! &5 R 3acifed il 21

Y & IR DY & -

(A) Qe AT, e, WS
(B) e, |ieH, AT, [HEAT
(C) g, foraen, demr, e
(D) g1, &, ue, forae

P.T.O.
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77. e @1 fGeamg dtreg € -

1. fagg @& abdra wiques

- 2. Hdafeear

3. HAHS® UoIard
4. fthea & o

(A) a1 704 2
(B) ®dci 1,274 3
(C) oac1,370d 4
(D) 3IRRF TRI
78. Fmafafea & ¥ o mseges yrda
3FHT 22
(A) HIHd
(B) wpa
(C) BRI
(D) dafiye
79. ¥, %, d, 9 59 UoR & o &2
(A) 31
(B) wggf
(C) FI™
(D) SIS
80. = @1 yaft S5 -
I e
(@) weff 1. df&
(@) ada 2. 3me
(m  Td 3. Ul
(a) 9a= 4. gur
(®) (=) (@M (=)
A) 4 2 1 3
(B) 3 1 4 2
(C) 2 1 3 4
(by 1 3 4 2
SET-C
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81.

XXI-2
ﬁ'ﬁ?ﬂ%ﬁﬁ%ﬁ'ﬁ-wm?ﬁ%?
(A) 9’1 75T 356 oT U 9 o
(B) SUH d8 d&% F 79, 39 95 355
Biet 3 WA B
IEH g3 @ad g
# y@mIRE g0 2l

(&)
(D)

Frée : Fr=fafea maiwr &1 ggex @ @ T

(e I¥=T 82 ¥ 86 dm) © Jau® 3T
IR dicl Taded & 9a Biav]

Hiaal &l i & gad & ard-Jea=i
& HPIad s ¥ HU IOTHR ATH-|H
HiE-YfH W & Sl 8, SR S @ A
Tidl & ARG WWEY B HEoR 3R IS
Ffadl B FaR A 81 39 YH W gy
g0 W9 DI TV BIA & [o1C AT TaT Fél
IEdll 98 O AT D ale-aal ¥ @
for <gar 21 39 e wee! syl
Bl & a1 & W 2?1 39 arpufa-dm &
IR TR FAIGPR & GR@SR o
-G & [ TR IMTHS T B
<& 3R Frafe & 81 59 vor e e
TIHS & A YR &ART g O 396
WIS 81 39 3Re W&l & @R 3R
IRSR @t Twen 51 Hoar & ks =
Ha®! U AT F0d & =-Rig i,
TNRI a1 @A & W & w5 e
sﬁ?anmﬁ"@fﬂwanfﬁngwﬁéémﬁﬁm
m-sﬁaq%mﬁé’rqwsﬁ?&;wﬁm
3 TET B, I §AR W&l S W e A
e WY Bl 33 B S waeE & v
& 3% 41 99 3R 4T R a7 Tod &
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82. Jues e & IFUR 3 e B
(A) S 3RD WEHS & 3R gEg 3mm
WS |
(B) I 3Md WIIHD ¢ 3R gay 3Mm
WD |
(C) s 3R ga A 3M® WIS B
(D) a3 gea A 3RE TS B
83. o wai sk =Rt ¥ wa=r @1 aRaa
anfew g W 8, I a1 TEd &7
(A) ¥l Hi@
(®) ¥ aRA
(C) T =R
(D) ¥ @i
84. T BN T WIS & -
(A) TI B HIfe BT
(B) dffad H & W @Al
(C) -3 &
(D) T & @l WHEF WE-H W)
raferd ATl
85. TR FANAGRI & URWBR &8 e 82
(A) 576 Sfeh-TeT clie- Tl § ¢ &l S|
(B) =@ @ifth &I 3R THOT ¥ qeH
& e
(C) 5ia A AR *inT-faemry & faga
&1 el
(D) 1@ 7™ 9pid & died W gq S|
86. Iz Il @ TUR 3R oY TRl &
A e B HEHR fbaed gRT 8l
&? '
(A)  FEu
(B) fadr
(C) T
(D) IRKH FH
SET-C

87.

88.

89.

90.

XXI-2
e i T @1 T &89
(A) 3Rar
(B) W
(C) yefmred
(D) hd

yapre-ad & SR STONEE URAE ol
TR BT el B &

(A) e, @R, A, o

(B) Srmufdrp, iy, @@, M

(C) R, Ui, 3, wmE

(D) YHuldip, 3ifg, dMRA, TR

wed X e & oer o afc 3 s € A

#F a1 Tl & fret 331’ 39 9lag B 3

&

(A) Trotas wdam, T g3, AR
Lo .

(B) UFudTd® HIAM, HeIH Y, e
S

(©) Freggars wdqm, 371 gwy, HaU

o .

(D) UETaR® HdAM, ITH ge, T
e RIM W '

A @ IR DI fee B 82
(A) Frr &y

(B) fowammer wema st

(C) IHRIPR oo I
(D) 3RS IMHT= Yol

P.T.O.
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Second Language - English XXI-2

Direction (Q. No. 61) : Choose the
correctly spelt word from the options
given below -

61. (A) Parralel

(B) Parrallel
(C) Parallel
(D) Paralel

Direction (Q. No. 62 -63) : In the following
questions, some parts of a sentence
have been jumbled up. Rearrange these
parts which are labelled as P,Q,R,S to
produce the correct sentence.

62. Each culture
P : flourishes when it comes
Q : own tradition and yet
R : draws strength from its
S ! into contact with others

(A) RQPS
(B) SPQR
(C) RPQS
(D) SQPR

63. Summer vacation
‘ P thattheir children learn something
worthwhile
Q: who are able to provide services
for anxious parents
R: who want to make sure
S: has become a big business for

those
(A) PRQS
(B) SQRP
(C) PQRS
(D) SRQP

SET-C

[22]

Direction (Q. No. 64 to 68) : Read the

Passage given below and answer the
questions that follow by selecting the
most appropriate option.

The supervisor would have to change
his attitude towards people first. The
staff under him must be perceived as
human beings with feelings and needs.
'They are not automations within a
complex work machinery'. One of the
greatest needs of today's worker is to
have a feeling that he is in control of
his work place and not vice-versa. The
best way is to satisfy this need as far

- as possible. He must feel firstly, that

his work is meaningful. To do this, the
supervisor must delegate responsibility
and limited authority for the man to
execute his job well.

The subordinate must ‘be properly
trained to assume responsibility and
authority. Once he is ready to assume
these he can be made accountable for
his job. Very often supervisors assume
all responsibility and accountability for
fear of losing control of the workplace.
This makes workers under him pawnsin
a vast chessboard, Delegating
accountability gives the worker a
purpose in life and the need to do a job
well. Most important is to sit with each
worker and chalk out common
objectives and agreed norms to achieve
them. This gives workers a security as
to what is expected of them. When he
has met his objectives, he certainly has
a feeling of achievement., This feeling
of achievement is the greatest
motivator,
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3
-

64.

65.

66.

67.

68.

A human attitude on the part of the

supervisor towards his staff is necessary

to -

(A) get them to work.

(B) keep them happy.

(C) have a congenial atmosphere at
workplace.

(D) get the best out of them.

Responsibility and accountability make
a worker -

(A) shirk his duties

(B) do his job properly

(C) tense and frigtened

(D) vulnerable before his supervisoré

Supervisors do not delegate responsibility

and authority to their subordinates

because -

(A) subordinates are not capable
enough.

(B) they can't trust their subordinates.

(C) they are apprehensive of losing
their hold on the place of work.

(D) final responsibility is their's.

The author's motive is to -
(A) suggest a solution

(B) criticise the supervisor
(C) criticise the workers
(D) write a balanced article

Pick out a word from the passage that
means 'to understand or think of
something in a particular way' -

(A) Delegate

(B) Perceive

(C) Purpose

(D) Norms

SET-C

[23]

69.

XXI-2

Direction (Q. No. 69 to 73) : Read the

passage given below and answer the
questions that follow by selecting the
most appropriate option.

Experiments with the sulfonamides
have made clear a fact about germs
which is gaining increasing importance
in fighting them. Germs, it seems, have
the same ability as all the other living
things gradually to change
themselves to suit new conditions. But,
as the generation of germs lasts only
twenty, twenty-five or thirty minutes,
before all the germs divide to form new
ones, changes, that would take many
years in animals, can be achieved by
germs in a few hours. Perhaps then you
give the attacking germ a dose of
sulfonamides which upsets them
somewhat but is not strong enough to
prevent them from multiplying; ir so,
they very rapidly develop new powers
which enable them to resist the effects
of the drug. After this has happened,
even the strongest dose will fail to

‘ disturb them.

Experiments with sulfonamides have led

to the important discovery that-

(A) germs are living things, and can
change themselves to suit new
conditions.

(B) onegeneration of germs lasts only
twenty, twenty-five or thirty
minutes.

(C) germs can adjust themselves to
live and multiply in new conditions.

(D) germs are not disturbed even by
the strongest possible dose of

~ sulfonamides.

P.T.O.
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70.

71.

(A) absolutely impossible.
(B) much easier.

(C) much more difficult.
(D) increasingly important.

72. Germs, which are not disturbed evenw
by the strongest possibler dose of the
sulfonamides, are said to have become-
(A) immortal
(B) immune
(C) improvised
(D) immobile

73. Onegeneration of germs expires, bringing
into existence the next generation-
(A) intwenty minutes
(B) in twenty-five minutes
(C) in not more than half an hour
(D) ina few hours

SET-C

Like all other living things, germs can
change themselves to suit new
conditions. This adjustment is possible
because the germs have -

(A)
(B)
(€)
(D)

the power of fluctuation.

the power of compliance.
the power of adoptability.
the power of adaptability.

Since germs can change themselves to
suit new conditions, the task of fighting

them has become -

[24]

74.

75.

76.

XXI-2
Which of the following are productive
skills ?
(A)
(B)
(€)
(D)

Speaking & Writing
Listening & Reading
Listening & Speaking
Reading & Writing

Learning a language is -

(A) a science

(B) an art and a science

(C) an art and not a science
(D) none of these

The goal of grammar instruction is to
enable students to carry out their
communication purposes. This goal has
three implications. Which one of the
following is NOT one of them?

(A) Students need overt instruction

that connects grammar points

with larger communication

contexts.
(B) Students should master every
aspect of each grammar point.
(C) Error correction is not always the
instructor's first responsibility.
(D) Students should master only those

aspects ‘that are relevant to the

immediate communication task.
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77. Teaching aids such as Charts, Maps,

78.

79.

Pictures and Drawings should be used
by teachers as they -

1.  Prepare students mentally

2.  Motivate for further preparation
3. Are not expensive

(A) Only (1)

(B) (1)and(2)

(C©) (2)and(3)

(D) All of these

When language is learnt naturally and
without any systematic practice then
it is called as -

(A)
(B)
©
(D)

first language
dearth
acquisition

erudition

The aim of remedial teaching programme

is to provide -

1. learning support to pupils who lag
for behind their counterpafts in
school performance.

2.  systematic training to develop

pupils generic skills.

Only (1)

Only (2)

Both (1) and (2)

(A)
(B)
(&
(D)

None of the above

SET-C

[25]

XXI-2

Direction (Q. No. 80 -81) : Choose the most

80.

81.

suitable option and fill in the blanks.

____darkestcloud has ____silverlining.
(A) The, the

(B) A, the

(C) A a

(D) The, a

English is ___ language of ____ people
of England. A

(A) the, a

(B) the, the

(C) a,a

(D)

a, the

Direction (Q. No. 82) : Fill in the blank

82.

choosing correct preposition.
I am taller than you two inches.
(A) from

(B) by

(C) with

(D)

none of these

Direction (Q. No. 83) : Choose the most

83.

suitable sentence which conveys the
exact meaning in accordance with the
correct grammatical rules.

(A) He cannot succeed unless he does
not work hard.

(B) He cannot succeed unless he
worked hard.

(C) He cannot succeed unless he did
not work hard.

(D) He cannot succeed unless he

works hard.

P.T.O.
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Direction (Q. No. 84) : Choose the
correct option and fill in the blank with

appropriate co-ordinating conjunction.

84. He s very intelligent careless,
(A) and
(B) but
(C) or

(D) aswell as

Direction (Q. No. 85) : Fill in the blank with
suitable form of verb.

85. Let's wait till he his work.

(A) finish

(B) will finish
(C) isfinishing
(D) finishes

Direction (Q. No. 86) : Choose among the
options, which mean the same as the
italicized part.

86. Ifyou begin your studies at the eleventh

~ hour, you cannot be sure to pass.
(A) atthe last moment
(B) at eleven o'clock
(C) inthe beginningl
(D) after the exams

Direction (Q. No. 87) : Fill in the blank
choosing appropriate homophone.
87. These grapes are .
(A) sore
(B) sour
(C) soar
(D) none of these

SET-C

XXI-2
Direction (Q. No. 88) : Choose the most

suitable word for the given phrase.

88. A person who hates mankind -
(A) philanthropist
(B) existentialist
(C) misanthropist

(D) none of these

Direction (Q. No. 89) : In following question,
a sentence has been given in Indirect
speech. Out of the four alternatives
suggested, select the one which best
expresses the same sentence in Direct
speech.

89. Shalu told him that he should work hard.

(A) Shalu said, "He should work hard".

(B) Shalu said, " You should work
hard".

(C) Shalutold, "He should work hard".

(D) Shalu told, "You should work
hard".

Direction (Q. No.790) : From the given
options, select the one which is opposite
in meaning to the word given in

capitals.

90. DOCILE

| (A) decent
(B) angry
(C) mannered

(D) stubborn

[26]
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The line x+y=0 passes through which
of the following quadrant/quadrants -
(A)
(B)
(©)
(D)

IV quadrant only
1T quadrant only

II & IV quadrants
1 & II1 quadrants

On dividing a number by 5, we get 3 as
a remainder. What will be the remainder
when the square of this number is
divided by 5?

(A) O

(B 1
c 3
(D) 4

If 40% of the people read newspaper
X, 50% read newspaper Y and 10% read
both the newspaper, then what
percentage of the people read neither
of the newspaper?

(A) 10%

(B) 15%

(C) 20%

(D) 25%

Which of the following numbers does

-5
not lie between — and Z ?

6 8
& S
® 2
© 2
o
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(B) y-2x=0
(C) x+2y=270°
(D) x+ 2y =360°

g x, zH 50% T AT ARy, z J 25%
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(A) 20%

(B) 25%

(C) 50%
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'Buy three, get two free'. What is the

percentage of discount being offered
here?

(A) 20%

(B) 33%

(C) 40%

(D) 66%

If y% of one hour is equal to 1 minute
and 12 second, then the value of y is -
(A) 1minute

(B) 2 minute

(C) 1/2minute

(D) 1/4 minute

In given figure, if O is the centre of

circle, then relation between x and y

will be -
N\
\
)
(A) x-2y=0
(B) y-2x=0

(C) x+2y=270°
(D) x+ 2y =360°

If x is 50% greater than z and y is 25%
greater than z, then by what percentage

x will be greater than y ?
(A) 20%
(B) 25%
(C) 50%
(D) 75%

P.T.O.
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If p+g=10 and pq=5, then the value of
P +3 will b
q p VPE
(A)
(B)
(©)

(o)

16
18
20

22

The ratio of circumradius and inradius
of an equilateral triangle will be -

(A)
(B)
<
(D)

1:2
3:1
2:1
1:3

Which aspect of evaluation is used
when a teacher ensures that students

complete an exercise in mathematics

and also makes sure that instructions
are clear and specific?

(A) Validity

(B) Practicality

(C) Reliability

(D)

Consistency

A student face difficulty in mathem;tics
learning. The best remedy for his
problems relAated with learning is-

(A)
(B)

©
(D)

Suggestion for hard work
Supervised study in library
Suggestion for private tuition

Diagnostic teaching
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(A) ma%aﬁé?nﬁm%ﬁr#fﬁmﬁan
ufreror |

(B) ©E @ sacias aluier &1 aRvam
&

(C) ol % nenfysary e

(D) Bl & Wi wR e

UE e e Sl il Remit o s
T H TG &, 9% deey -

(A) THde

(B) X

(C) YwrEvg

D) f&g

14 ¥ YT a1 U ot % IR @ S
T Tl 85 F 8 99 @7 e 2-

(A) 616 2,

(B) 308 T2,

(C) 154 J912.

(D) 196 I

TS5 O 2:30 pm W TS R TR 60
fooa. /. @ nfa & wmrer &1 98 @1 uar
3.00 pm T TR & 3R BR werd ey
BR ¥ 75 forir. /b, & TRy ¥ 39w der
@Al €| 98 IR B $a UHs YRAT?

(A) 4:30pm '

(B) 4:45pm

(C) 5:00pm

(D) 5:15pm
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103. The basic aim of Heuristic strategy in

104.

teaching of mathematics is-

(A)

To train students in scientific way
of learning.

(B) To train students in observation
skills.

To enhance self confidence in
students,

(©)

(D)

To enhance memory level of
students.

A flat surface which extends indefinitely
in all directions is called a-

(A)
(B)
©
(3)

Plane

Line

Line segment
Point

105."'Area of the greatest circle inscribed

106.

inside a square of side 14 cm is-
(A) 616cm?

(B) 308 cm?

(C) 154cm? ,

(D) 196 cm?

A thief steals a car at 2:30 pm and
drives it at 60 km/h. The theft is

discovered at 3.00 pm and the owner
sets off in another car at 75 km/h. When
will he overtake the thief?

(A)
(B)
(C)
(D)

4:30 pm
4:45 pm
5:00 pm
5:15pm
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(A) T 1140

(B) %1197

(C) ¥ 1254

(D) ¥ 1260

U WHIR AGHST &1 U NdRd IoT 30d
TEH BIC PIUT F &SR F 30° FF &1 I
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(A) 70° |

(B) 100°

(C) 110°

(D) 170°

x @ AF 71 difaw afs - & w= ger
BT FARR AT I &
T agf
x+3 3
x-7 . 7
xX—4 M 11
(A) 8

(B 7

© 21

(D) 4

IR vF ©a @ G YOI O AT B} &
S a1 SBT3 dell-

(A) 800%

(B) 900%

(C) 2600%

(D) 2700%
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107. A person incurs 5% loss by selling a

108.

(S

109.

110.

watch for ¥ 1140. At what price should
the watch be sold to earn 5% profit?
(A) 21140

(B) 71197

(C) %1254

(D) 1260

One of the internal angle of a parallelogram
is 30° less than the double of the smallest
angle. Then its greatest internal angle
will be-

(A) 70°

(B) 100°

110°

(D) 170°

Calculate the value of x if the arithmetic

mean of the following data is zero-

Numbers Frequency
X+3 3
x=7 7
x—4 11

(A) 8

(B)

() 21

(D) 4

If each side of a cube is trippled, then
its volume is increases by-

(A) 800%

(B) 900%

(C) 2600%

(D) 2700%
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(A)
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10,000
15,000
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(A) 239, 391, 4 3,

(B) 3., 4 3., 130,
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2
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©
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111. A brick measures 20cm x 10 cm X 7.5

112,

113.

cm. How many bricks will be required
forawall20m x 2 m x 0.75 m?

(A)
(B)
©)
(D)

10,000
15,000
20,000

25,000

Three circles touch each other externally.
The distance between their centres is
5cm, 6 cm and 7 cm. Find the radii of
the circles -

(A) 2cm,3cm,4cm

(B) 3cm,4cm,1cm

(C) 2.5cm,3cm,3.5cm

(D) 1cm,2cm,4cm

LCM of 2 = and 2
05,1Oan 1513-
2

(A) 5

By L

® 15

o 2

© =

oo

o) 3

P.T.O.

Scanned with CamScanner



114. 21 gO R @iy T8 31t ¥ 3t swatrs
et YEmil &t HET §91R, S|ie AHl ga
P R B e e AR § -
(A) 1
(B) 2
(C) 3
(D) 4
fader (9.9 115 - 116) : Fe=foReg ud o &
fafir 2ol X o= oy Wied! & T & e
T 2] SIS ST PG Ud HeAl B IR
Qs
T Wed T=T = 20 A"

115, .37, 30R@T 3k SO & 37F a1 Wead
@ T ¥ b 3R 82
(A). 2 &=
(B) 3™
(C) 4 o™
(D) 10 oI~g

116. afk B 2 31T arer iedt Y e A
@ 2, @ e & wieat & fore Tar @
-
(A)
(B)
(o)

(©)
SET-C

20°
36°
72°
120°

[42]

XXI-2
114. Maximum number of common tangents
drawn to two circles when both the
circles touch each other externally is-
(A) 1
(B) 2
(C) 3
(D) 4
Directions (Q.No. 115 — 116) : Study the

following pie chart carefully and answer the
questions based on it. It consists of data on
tourist arrival from different countries.

Total tourist traffic = 20 Lakhs

30%
Japan

20%
Others

115. The difference between tourist
numbers from USA and Japan is-
(A) 2 Lakhs
(B) 3 Lakhs
(C) 4 Lakhs
(D) 10Lakhs

116. If the number of tourists from U.K.

doubles up while the total remains the

same, then the new angle extended by
- the tourists from U.K. will be-

(A) 20°

(B) 36°

(C) 72°

(D) 120°
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117. Fr=foRaa Raor iy & foe w8 e

(P)
Q)

(R)
(S)

118.

119,

120.

T -

fRramor fafty amenRa Rigr=

fawervor fafér (I) SMPHHAHDG Td

ooy fafty (1) @, A 3k

T

weefq fafer (111) TR TG

yamenen dfr (v) e b
P Q R S

(A) T I I

(B) IV I I I

(© 1 IV U I

D) IV 1 I I

TTioTer 1601 # e Jger UM SMenRa

3 _

(A) TEsHe e ®

(B) Tw=r gAeH gl )

(C) T s 9" W

(D) 3WRP I W

T B TP & -

(A) 3EdRS

(B) difd®

(C) o7

(D) MM & fow =&

1 Hfedl 8:35 am W v W g g
gl €1 It ¥ pue: TRF 12 ., 159, 7
18 9. 91 gART @5 €, 9@ § 3E aR
5 & vs a1y ori-

(A) 8.38am W

(B) 8:40 am W

(C) 8:42amW®

(D) 11:30amW™

SET-C

[43]

117.

(P)
Q)
(R)
(S)

118.

119,

120.

(D)

XXI-2

Choose the correct match for the

following teaching methods -

Teaching method Based on
principle

Analytic method (I) Inductive
reasoning

Synthetic (II) See, hear and

method understand

Demonstration (III) Learning by

method doing

Laboratory (IV) Deductive

method reasoning

P Q R S

(A) 1 11 v 111

(B) Iv 1 11 III

(€ 1 v I IO

(D) v 1 III I

Brain-storming strategy in mathematics
teaching is based on -

(A)

(B)
(©)
(D)

Psychological principles
Problem solving principles
Creative thinking

All of the above

The nature of mathematics is -
(A)
(B)
(©)

Analogical
Logical
Difficult

Not for common

Three bells start ringing together at
8:35 am. If they ring after 12 s, 15 s
and 18 s i'espectively each time, the
next time they will toll together at-
(A) 8.38am

(B) 8:40am

(C) 8:42am

(D) 11:30am

P.T.O.
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121. EAR AR § 37 B! HEebal 3 31w

122.

123.

124.

HAET B8R W 3t & S &1 dH-a
T BIHI FCAID Sl 1§ T
¥ s T § B & X S e d-
(A) Hig BT W

() gtrar A=

(C) 3RS

(D) R

gersiial BRT 7 qredt R fmar s ¥

T I 34 BT AH ¢ -
(A) HIEH
(B) W&

(C) &Hs
(D) 3UHEH

I TRIe wR R e S &
g7?
(A)
(B)
(%
(D)

yiernty wemsit # 3T egH &Rl
St Trerar 3ifsa &
afee dra faefa &

et Breror & o fafer o B3 U 3avd

¥ wq 1 B Har 87

(a) gRfes faf
(B) wedl fafer

(c) darorn fafer

(D) = fafer

SET-C

[44]

XXI-2

121. Too much of acid in our‘stomach causes

122,

123.

124,

- (D)

indigestion. Sometimes indigestion is
painful. To relieve from this indigestion,
which of the following will be helpful -
(A)
(B)
(&)
(D)

Lemon juice
Milk of magnesia
Aqua regia

Vinegar

Micro-organisms act upon the dead
plants to produce -

(A)
(B)
)
(D)

Mushrooms
roughage
‘humus

decomposers

Which one of the following is not
desired objective of learning of science
at upper primary stage?

(A)
(B)

To acquire essential process skills
To perform better in competitive
examinations

(&)

To acquire scientific literacy

To develop rational thinking

In which method of science teaching,

the student works as an explorer?
(A)
(B)
(o)
(D)

Heuristic method
Demonstration method
Project method

Lecture method
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125. e § X ol e Reor ¥ areer-wemi
fosand & -

ERIGECNES s wehnenen

EEIG N

() (i)

(iif)
daa (i) T (i)
Fadt (ii) T (iii)
Fad (i) T (iii)
I (i), (ii) T (iii)

(A)
(B)
(o)
(D)

e faftr &1 wem wRoT (JuF) @ -
(A) uR@edr fmfor

(B) THTAT @ H&TUT

(C) wam

(D) e

126.

127. 55 Tomerat # g wdimmemen & gfaumd

Joerer T8 &, 3 et # yan e’ o

ST s @Y &g TR WY © -
(A) fasm=r fogst
(B) o=t gafaa

128.

[45]

XXI-2

125. Which of the following are co-curricular

activities in Science teaching -

(i) Science club (i) Science laboratory

(iii) Science fair

(A)
(B)
(©)
(D)

Only (i) & (ii)
Only (ii) & (iii)
Only (i) & (iii)
All (i), (ii) & (iii)

126. The first step of the scientific method
is -
(A)
(B)
(®)
(D)

Formation of Hypothesis
Observation of problem
Experiment

Conclusion

127. The schools which are lacking facilities
of science laboratory, the available

resource for such schools to facilitate

experimentations is -
(A)
(B)
(©
(D)

Science Quiz
Science Documentary
Science Library

Science Kits

128. In science, any repeatedly verifiable
observation becomes a ---=-=-*

(A) fact

(B)

(C) theory

concept

(D) prediction

P.T.O.
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129. 71 7 3 i faga et & afie wag
@ U6 Haiftres =g 3gar -

(A) foga dex
(B) foga vy
(C) faga dww
(D) faga Aex

130. 1 # %1 TR enfor gRr s Y smRE
TRl forar 5 wear &2

(A) wifes & Ritea

(B) Fa&

(C)  TReT AT [&RT

(D) diY B B3

131. ®El & WS Wie & BROT &-
V(A) HICTTST
(B) gl
(C) diders

(D) Waers

132. 3iE & 39 9T &1 71 Fad 3 3 TR
AT YEH BT -

(A it

(B) uRarfar

(C) sfeuea (fem)

(D) =T o¥g

133. 11 o anerer 3 fexarg &= aren qas TwedIen
TE &

(A) -HTTE

(B) §u

(€) gewfa

(D) T»

SET-C

130.

[46]

131.

132.

133.

XXI-2

129. Which of the following is one of the

most common applications of chemical
effects of electric current -

(A) electric heater
(B) electric iron
(C) electroplating
(D)

electric motor

Which of the following can not be
charged easily by friction?

(A) |
(B)
(©)
(D)

A plastic refill
A woollen cloth
An inflated balloon

A copper rod

The reason for the sweet taste of fruits
is -
(A)
(B)
©
(D)

Maltose
Ribose
Lactose

Fructose

Name the part of the eye which gives
colour to the eyes -

(A) Cornea
(8)
(C) Retina

(D) Eyelens

Iris

The brightest planet in the night sky
is -
(A)
(B)
(©)
(D)

Mars
Mercury

Jupiter

Venus
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134. = ¥ @ o9 v gud aa -

(A) 99T &
(B) YA &

(C) TSl el
(©) fer dud

135. 77 s/awyr A uRafda ge famr & @

B §9 3 ufbar & Feq 8-
(A) T
(8) fHagor
(C) Feduraq
(D) 3MDHgor

136. F ¥ I Y IR T o

o F&a 8-

(A) wifes

(B) <mESI N
(C) wr=HEw
(D) =EeIBitgar

137. & 9 4R WY el 9 et &, 3

SR TG B A B Aferd Fav -
(A) efgaa |

(B) UmRiss

(C) urzHg

(D) 3=mETT

138. 89 39 # forg % &1 3w g & @

glaa tgiferam i (LPG) deamh &1 Rafdisk
4 LPG 57 & &0 ¥ 2rt & fafier & o=
i g a8 g F oRkeffa & =i @
(af¥eref= x); fpz agt da sereh @
(URa v)| FrfoRea sum e gt
¥ aftrT &1 e doF @7 T S
(A) "BE-X U Iemafe oRadg 2
(B) ¥HH-Y vd ImafTe uRadT 2
(C) wbH-X 3R weBm-yY A & <rarafye
Rad &

$T X B W Wb Iafe yRada
T &

(D)

SET-C

134.

135.

136.

137.

138.

[471

XXI-2

Which of the following is a 'Contact
force' -

(A) Muscular force

(B) Magnetic force

(C) Gravitational force

(D) Electrostatic force

The direct change from gas to solid
without changing into liquid state is
called -

(A) Condensation

(B) Deposition

(C) Sublimation

(D) Centrifugation

Which of the following are also known
as 'Suicide bags' of a cell -

(A) Plastids

(B)- Ribosomes

(C) " Lysosomes

(D) Mitochondria

Which gland secretes harmones that

maintain the correct salt balance in the
blood -

(A) Adrenal

(B) Thyroid

(C) Thymus

(D) Pancreas

The gas we use in the kitchen is called
liquified petroleum gas (LPG). In the
cylinder it exist as a liquid. When it
comes out from the cylinder it becomes
a gas (Change-X), then it burns
(Change-Y). The following statements
pertain to these changes. Choose the
correct one -

(A) Process-X is a chemical change.
(B) Process-Y is a chemical change.
(C) Both processes X and Y are
chemical changes.

None of these processes is a
chemical change.

(D)

P.T.O.
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139, 3T gE AR BHeERal & aRerl o o

wRe® @ I T B & 3 I ARG
SEInE

(A) uiferels

() WARN

(C) AW

(D) YBAFT

140. 9 3k 9 @ Ruam & foe gIR o
H TEN A saen & fow &7 (v B
SUTNT BRA 89
(A) T FARS U
(B) | I
(C) Va9 S WM
(D) T | |

141, THR & ¥ [T gy @ a0 9§ e
S i o1 <. fremar S 81 FE TR
% 31 Uil o ga @ 0T w8 ¢l
TSR BT 3 T & BUS a1 BAl @l GEradl
ﬁq%%mmélgwa%ag%ﬁx
HEeTl &
(A) fHema
(B) 3r@wEA

142.mmﬁmwﬁaﬁq‘é—

SET-C

XX1-2
139. Coating of which plastic is used on the
uniforms of firemen to make them flame
resistant?
(A) Polythene
(B) pPVC
(C) Melamine

(D) Bakelite

140. Which zone of flame does a goldsmith
use through metallic blow-pipe for
melting gold and silver?

(A) Innermost zone
(B) Middlezone
(C) Outermostzoneé

(D) All of these

141, For making '‘Paneer', a few drops of
lemon juice are added to milk as it boils.
This gives a mixture of particles of solid
paneer and a liquid. The paneeris then
separated from mixture by help of fine
cloth or a strainer. This process of
separation is called -

(A) Winnowing

(B) Sédimentation
((;) Decantation
(D) Filtration

142. Which Vitamin helps the most in healing
the wound -
(A) Vitamin-A
(B) Vitamin-B
(C) Vitamin-C
(D) Vitamin-D

[48]
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143, 379 3 SRifEE & GEdeT uuT H <@ I®

144,

145.

146.

#| zdor e 3mas wiifee & & @ g 4
Prex 21 afE 3T qdor @ 3R 1 WeR e
# ar amus 31k s wiafde & @ B gl
2
(A)
(B)
(©)
(D)

2 Miex
3 Miex
5 Mex
6 W=

TP IReT 3@ H T @ TR B A (v) 7
TG (1) & 9T URaa= @ v-t U6 GRT
T 37 GhdT &1 v-t W GIRT RT T
gawd g difts fEr o Fefta &=
(A) HIeX

(B) HICX’

(€) He=RAD0s

(D) HIE/ADHUE’

o1 7 & b 5ig | 5Ta F A0 o & fore
firet (@eim) &y &

(A) 3ifaead

(B) Efcifte

(C) B

D) A =

TR URAY # BF e uRads 5% uf
& sl < €, § e &

(A) 3rIger
(B) JEUA

(C) wgHpeH

(D) g

SET-C

[49]

XXI-2

143. You are observing yourimage in a plane

mirror. The distance between the mirror
and yourimage is 4 metre. If you move
1 metre towards the mirror then the
distance between you and your image

- will be -

144.

145.

146.

(A) 2 metre
(B)
(®

(D)

3 metre
5 metre
6 metre

The variation in velocity (v) with time
(t) for an object moving in a straight

line can be represented by v-t graph.

Area under v-t graph represents a
physical quantity which has the unit -

(A). metre
(B)
(©)

(D)

metre?
metre/second

metre/second?

Which of the following animals has gills

to breathe in water -
(A) Octopus

(B)
(C) Whales

Dolphins

(D) All of these

Changes in our surroundings that make
us respond to them, are called -

(A) adaptation

(B) stimuli

(C) acclimatisation

(D) detection
P.T.O.

Scanned with CamScanner



147. o1 & 9ACT AR & w0 § REa @ e o

148.

149,

150.

a=ar wel oiar @1 e § e st

T g ® -
(A) Tt
(B) drar
(C) =T
(D) did
e 3 ewie SR ®IF goiag = fondil e
&7 # &7 S diaad WaW BT 2| o
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: TEOIT &F
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\ 4
geIag
(A) @ 3R
(B) & 3R

(C) &S I §1Ex @ 3R 3 g
(D) s ¥ HiaR & 3R 3 g

g 39, do & o9 e & ueH H
eIl BT &2

(A) @E

(B) WR=

(C) FEfERIeH
(D) GfHa waor

= 4 ¥ Touer suam @ oiRReor &
fore < T s #-
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(A) e (i) 3R (i)
(B) ad (ii)

(C) aa (ii) 3R (iii)
(0) = (i), (ii), (iii)

(i) THD

SET-C

147.

148.

XXI-2
The ability of metals to be drawn into
thin wires is called ductility. The most
ductile metal in following is -
(A) Aluminium
(B) Copper
(C) Gold
(D) Silver

An electron enters a magnetic field at
right angles to it, as shown in Figure.
The direction of force acting on the

electron will be -

—-———-’
—+——3 Magnetic Field
—>

4

Electron

- (A) to theright

149.

150.

(B) to the left
(C) out of the page
(D) into the page

Bile juice helps in the digestion of which
component of food?

(A) Fats

(B) Proteins

(C) Carbohydrates

(D) Minerals

Which of the following also used for
preserving food -
(i) Sugar

(i) Common Salt

(A) Only (i) &(ii)

(B) Only (ii)

(C) Only (ii) & (iii)

(D) Al (i), (i), (iii)

(ii)  Vinegar
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XXI-2
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(B) wiigftc &=
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(D) AT i
SET-C [51]

93.

94.

Which of the following aims of teaching
Social Studies at the secondary stage?
(A) Physical development

(B) Development of democratic values
(C) Selfexpression

(D) Social development

What is chief objective of Diagnostic
testing in social studies teaching?

(A) Identification of weak pupil

(B) Intelligent pupil

(C) Favourite pupil of teacher

(D) None of the above

Diagnostic testing in social science will

help a teacher understand -

(A) learning difficulties a student is
facing in social science.

(B) how revision work has helped her
students.

(C) how intelligent her students are.

(D) the part of the topic the student
has not memorised.

Which of the following statements

about ancient manuscripts is not
correct?

(A) They were usually written on palm
leaves.

(B) They are the primary souces of
the period they reflect.

(C) They were handwritten and then
printed.

(D) Some manuscripts were engraved

on stone or metal.

Which of the following should not be a
part of the social science instructional
process?
(A) Dictation of facts
(B) Feedback mechanism
(C) Implementation
(D) Planning
P.T.O.
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SET-C

XXI-2

96. What kind of language needs to be used
in social science teaching?
(A) Representative of dominant groups
(B) Difficult
(C) Discriminatory
(b) Neutral and sensitive

97. Suppose the prescribed social science

textbook is difficult for the students.

What will you do?
(A) Provide a
“supplementary.
(B) Emphasise rote learning.
(C) Dictate summaries of each lesson.
(D) Use question answer technique.

variety of

98. The most useful teaching learning
material for geography teaching under
social studies is -

(A) maps

(B) timegraphs
(C) flash card
(D) barometer

99.. Which of the following will promote
~social learning of rules, regulations and
values ?
(A) Project work
(B) Group Discussion
(C) Reading a book
(D) Writing an essay

100. Which one of the following is not an
aim of Social Science?
(A) Imparting knowledge to become
an effective citizen.
(B) Developing social efficacy.
- (C) Teaching etiquettes.
(D) Developing motivation for
participating in public affairs.

[52] P.T.O.
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104.

105.

XXI-2
Which one of the places was famous
as 'Bread Basket' -
(A)
(B)
©
(D)

Harappa
Mehargarh
Mohenjodaro
Lothal

People of which one of the following

cultures, for the first time started
living in permanent settlements by
making houses-

(A) Mesolithic culture

(B) Neolithic culture

(C) Chalcolithic culture

(D) Copper hoard culture

Which one of the following is given the
credit of building the city of Srinagar

(Kashmir) -

(A) Kanishka

(B) Asoka

(C) Chandragupta Maurya

(D)

Harsha

Who of the following is the writer of
'Panchsiddhantika’ -

(A) Aryabhatt

(B) Varahmihir

€
(D)

Brahmagupta
Charak

In which one of the following years,
Buddhism was declared as state
religion for the first time in China -

(A) 211A.D.

(B) 379A.D.

(C) 415A.D.

(D) 645 A.D.

P.T.O.
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106.

107.

108.

109.

110.

111.

XXI-2
Which one of the Bodhisatvas is called
the Bodhisatva of future-
(A) Padmapani -
(B) Maitreya
(C) Vajrapani
(D) Manjushree

Which one of the following was
associated with the Mahodayapuram
State of ninth century-

(A) Chera

(B) Chola

(C) Pandya

(D) Pallava

Which of the Delhi Sultan annexed Surki
Sultanate-

(A) Bahlol Lodi

(B) Ibrahim Lodi

(C) Sikandar Lodi

(D) None of the above

In which one of the following places, -
Saint Ramananda took birth -

(A) Kashi

(B) Prayag

(C) Kannauj

(D) Lakhnauti

In how many types the agriculture land
was divided during Akbar's reign -

(A) 2

(B) 4
€ 6
(D) 8

Which of the following kingdom, Chand
Bibi was associated with -

(A) Bijapur

(B) Golkunda

(C) Bidar

(D) - Ahmadnagar
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112. 98 &9 9" 9RO o 5= & &

113.

114.

115.

116.

Hetcal G H Tax151 Y& BT YA HR &=
@ i JoT o - '

(A) T TeR fieis

(B) TRTHIE AR

(C) TUTel $OT MEw

(D) fRIsTemE Agar

1896 # 3R 3 fow R wfts o
wRifora fosar e -

(A) seell
(B) &Rl
(C) STHID
(D) =T

‘3d f&der e TRy freifed o
Y fooas detera e -

(A) 3§ HAH 3T

(B) diiepd 3l

(C) HE=e 37l

(D) deFed dassi

Freifea o foa dived @ el aRER
&1 @ o -

(A) SIS

(B) @EHIR &

(C) W g

(D) Yw@ed

i 4 fvaw ‘gfvsan foma wisn’ 9mid
QIS B orad faar o -

(A) TAER AT &S

(B) ot % UG

(C) 3G e 3Tl

(D) JHN T TN

SET-C
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112.

113.

114,

115.

116.

XXI-2
Who was first Indian that used Swaraj
word to demand Swaraj at the Culcutta
session of Congress-
(A) Bal Gangadhar Tilak
(B) Dada Bhai Nauroji
(C) Gopal Krishna Gokhale
(D) Firojshah Mehta

Which European power was defeated
by Ithiopia in 1896-

(A)
(B)
©
(D)

Italy
Hungary
Denmark

Sweden

Who of the following was associated
with the news paper 'Al Hilal' -

(A) Abul Kalam Azad

(B) Shaukat Ali

(C) Muhammad Ali

(D) Badruddin Taiyabji

Who of the following shot Saunders
dead-

(A)
(B)
(©)
(D)

Rajguru
Batukeshwar Dutt
Bhagat Singh
Sukhdev

Who of the following wrote the book
'India wins freedom' -

(A) Jawahar Lal Nehru

(B)
(9
(D)

Rajendra Prasad
Abul Kalam Azad
Subhash Chandra Bose

PITIOI
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117, 7= 8 ¥ fooq 9RAT Iea & R A
H & T 8?
(A) Temmae wewr
(B) fwr
(C) 3TEUTEe WagT
(D) Fafeew

TGN YRa @ 99 91 7ol o
(A) Tee

(B) Pwm

(C) @R

(D) =Har

118.

119. i) STt AT Mer (1960) & SER ARG
T T W & EYOT T BT ...
eI (%) 3UANT TR HaaT &-

(A) 20

(B) 50

(C) 33

(D) 80

120. ‘gpifar o i 98 ® R &
(A) O

(B) Tiama<r

(C) #Hema

(D) =¥er

121, 7 | 3l wd Rt 3l &

I U - I
(A) fix -
(B) WFN .
(C) T&ar -

(D) =1 -

SET-C

[56]

XXI-2

117. Which of the following Indian state does

118.

119.

120.

121.

not share land boundary with China?
(A)
(B)
©
(%)

Himachal Pradesh
Bihar

Arunachal Pradesh
Sikkim

The largest river of Peninsular India is-
(A)
(B)
©)
(D)

Godavari
Krishna
Kaveri

Narmada

According to the regulatiohs of the

Indus Water Treaty (1960), India can

percent (%) of the total
water carried by the Indus river
system.
(A) 20
(B) 50
(C) 33
(D) 80

‘Dhuandhar falls' is located on river-
(A) Kaveri

(B)
(©)
(D)

Godavari
Mahanadi

Narmada

Which of the following is not correctly
matched -

National Park - state
A(A) Gir - Rajasthan
(B) Manas - Assam
(C) Dudhwa - Uttar Pradesh
(D) Kanha -

Madhya Pradesh
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122, gAY % FaR Fo IR AT TR W TG

123.

124.

125.

126.

areh werw Afger -

(A) weHs feery

(B) @Al U

(C) ! @
(D) WI=ANT

oY Y TaR W YT Bl ge 3T HH argu-
I.  HAM HSd

II. &y Asd

III. 3 Had

IV. Wed Hsd

(A) I,1I,IIIEd IV

(B) 1I,1,1Ved III

(C) 1,1II, IVEd II

(D) 1II, 1V, II1Gd I

= % 4 ol & ol @ s
HEET A T8l JeRdr 87

(A) T &

(B) fagaa Y@r

(C) TR @l

(D) 3FRigE feifer

ArIa: AETET 3§ e T @1 wan e
ST &

(A) Sl @ el & ford

(B) el @ eo = & fod

(C) uddi @1 o & forx

(D) USRI @ &af & ferd

Prafafag & ¥ o @ oo @fE &

T A F& TE 8°

(A) A Tl w0 ¥ wid B arer garef
gl

(B) 3Ip1 U Fiiel A~ e 2y
&

(C) o fafim woR & wisife aRaw
fffa g &I

(D) &N @ivat srenfeass & 2

SET-C
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122.

123.

124.

125,

126.

XXI-2
First woman to climb the highest peak
Mt. Everest was-
(A) Edmund Hillary
(B) Bachendri Pal
(C) Junko Tabei
(D) Phantog

Starting from Earth's surface, the right
sequence is-

I. Stratosphere

II. Troposphere

I1I. Ionosphere

IV. Mesosphere

(A) L II TII &IV

(B) 1II,I,1IV&III

(C) I, III, IV&II

(D) II, IV, III &I

Which of the following imaginary line is
not passes through Africa continent?
(A) Tropic of Cancer

(B) Equator

(C) Tropic of Capricorn

(D) International Date line

Generally blue colour is used in maps-

For showing water bodies
For showing plains

For showing mountains
For showing plateaus

(A)
(B)
(©
(D)

Which of the following is not true for

minerals?

(A) They are naturally occuring
substances.

(B) They have a definite chemical

composition. '

They are formed in different types

of geological environments.

(€

All minerals are non-metallic.

(D)

P.T.O.
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127. = 3 J o 91 3 T 3R b dewi

128.

129,

130.

¥ a1 F €9 aTT JaT 3TURe d B o1l
fopar s &-

(A) &S BEeT

(B) wafdwm

(C) afe®r wni

(D). THICREN™ T8

toma & st P @ RrfRad & @
T BROT &-

(A) TEF @

(B) THIgeH

(C) 3t Riem

(D) e wegaRoT

FafoRea 4 ¥ &9 91 5w wTeErR R

sfer oRdeT § aftafee & &7
(A) TSI
(B) TR

(C) ¥ERTE
(D) <IETET

frfofea & & @9 & Al & am
R 9IRd | 78T &7 :
gelgA

gy

T

Hefetat

HTORT

1,20@5

1,2,404 5

1,209 4

2,409 5

U

(B)
(©
(D)

SET-C

[58]

XXI-2

127. Which one of the following methods is

128.

129.

most appropriate to check soil erosion
by wind on coastal and dry regions?
(A) Shelter belts

(B) Mulching

(©)
(D)

Terrace Farming

Contour ploughing

Which of the following is the main cause
of land degradation in Punjab-

(A)
(B)
©)
(D)

Intensive cultivation
Deforestation
Over irrigation

Overgrazing

Which one of the following state is not

~ covering Sardar Sarovar Dam Project?

130.

(A)
(B)
(©
(D)

Rajasthan
Gujarat
Maharashtra
Telangana

Which of the following rivers does not
originate in Indian territory?

1.  Brahmaputra
2.  Indus

3.  Ganga

4. Satluj

5. Ghaghara
(A) 1,28&5

(B) 1,2,4&5
(C) 1,2&4

(D) 2,4&5
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131.

132.

133.

134.

T A BT GE B & Wi gAferd aiford 3R
Jfert & A T Te I A R G IR
-
- A T B
(WRa & A PN (syeeT)
® JHERI)
a. ™ 1. afémor gat e
b. FHRI 2. IR qdl 9Rd
c. @R 3. 3TiST WeeT
d. dg 4, 9B we
@:
a b c d
(A) 2 4 1 3
B 2 4 3 1
© 4 1 2 3
@ 4 2 1 3
Frafeea § & -1 yeie udd &2
(A) TEwera udd
(B) el gdd
(C) AT udq
(D) o Udd
T § IS Fd B 9ed Fecayul
SO BT A 87
(A) fzar
(B) ToHITd® act
(C) <rera Mfsar
(D) e W
WRea Wfde & At s e

g -
(A)
(8)
(©
(D)

T A
RTEt §
AT A
TEEAT o

SET-C
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XXTI-2

131. Match List A with List B, and select

132.

133.

134.

the cofrect answer using the code given
below the list -

List A ListB

(Synonyms of (Regions)

shifting

cultivation

in India)

a. Jhum 1. South-East
Rajasthan

b. Kumari 2. North-East India

c. Waltre 3. AndhraPradesh
d. Podu 4, Western Ghats
Code :
) b ¢ d
(A) 2 4 1 3
B 2 4 3 1
(© 4 1 2 3
) 4 2 1 3

Which of the following are Block
Mountains?

(A) Himalayas

(B) Ural

(C) Appalachians

(D) Vosges

Which of the unit is more important for
Public Communication at present?

(A) Radio

(B) Political Party

()
(D)

Social Media

Pressure group

The fourth schedule of Indian
Constitution is associated with -

(A)
(B)
©
(D)

Council of States
President
Chief Minister

Prime Minister

P.T.O.
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135. Frey 3 A fopw wdenfores Fairerd gRT =t
& 3R @ g faar /@ ar?
(A) Faiferd
(B) danferd
(C) Tarferaa
(D) darfered

136. 4Ra A 5w af wrEiRie fasr srdma
yRwy far mar are
(A) 1950 §
(B) 1952 H
(C) 1954 9§
(D) IWRH A J IS T8

137. GoAF ¥ WS Tord disE # -
(A) R #
(B) @9 H

(C) Tiges fomew d
(D) TI3EY 3RT H

138, P # & fow ow1 & U fofaa sifaems
TEE -
(A) ¥Rd
B) f&ea
(C) Raesreivs
(D) 3R

139. THETHG Y Favel H 5T & R
& U &Il 8-
(A) ol wifxsai
(B) AmA™ P wifepar
(C) it wRkear
(D) @5 wfes &

140. FHEHAD I FGIT § TS 3 dod!
Pl BTEAGTTT IRl & -
(A) rafa
(B) Iwregyfe
(C) BT 3Teze
(D) WerHAT
SET-C

[60]

XXI-2
135. By which of the following Constitutional
Amendment ""Right to Property” was

omitted?

(A) 42
(B) 43
(C) 44"
(D) 45"

136, In which year the 'Community
Development Programme’ was started
in India?

(A) 1950
(B) 1952
(C) 1954
(D) None of the above

137. At present Constitutional monarchy exist
in-
(A) U.S.A.
(B) China
(C) UK.
(D) Saudi Arabia

138. Which one of the following- countries
does not posses a written Constitution?
(A) India ‘
(B) Britain
(C) Switzerland
(D) U.S.A.

139. The head of the State under a
Parliamentary Governments enjoys -
(A) absolute powers
(B) nominal powers
(C) limited powers
(D) no powers

140. The meetings of the Cabinet under .

Parliamentary government are presided
over by -

(A) The President

(B) Vice-President

(C) The Speaker

(D) The Prime Minister
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141, afz fo<h wfts @ sy w9 A G

142,

143.

144.

145,

JoRae foar mar & ar Fre o @ =
& foowr amewr & far snen 22

(A) &< HafaRuT

(B) WRHRYT

(C) 33oT

(D) 3R@R geor

= 7 ¥ B W sRer R-urd &
ERT HRAT &7 § Wi fosam s wavar &7
(A) aIE T&c=ar

(B) N & TH&T FHMAT

(C) wifdyds 3R PRIy Tem

(D) IRID & B el

YRA H9E &I o7 BT & -

(A) THaH 3R TSUFHT gRT

(B) Irgufct, dl@wsT vE IGOTHT §RT
(C) ®aa Il 3R dler gRT

(D) aa gyl 3R TS GRT

I AfET R @ R b @ @
T e

(A) 1991 &

(B) 1992 §

(C) 1993 &

(D) 1994 &

for faer weners siftrfom & daa daea
TS G H A @ R YT
foar mar?

(A) 71d Geies &

(B) 72d Guhes ¥

(C) 733 weherd o

(D) 75d GeeE |

SET-C

[61]

141.

142,

143.

144.

145.

(©)

XX1-2
Which one of the following writs is
issued by the court in case of an illegal
detention of a person?
(A)
(B)
€
(D)

Habeas Corpus
Mandamus
Certiorary

Quo-warranto

Which of the following rights can be
claimed by the alien within the territory
of India?

(A) Freedom of speech

(B) Equality before law

(C) Assemble peacefully without arms
(D) None of the above

The Parliament of India consists of-
(A) Lok Sabha and Rajya Sabha

(B) The President, Lok Sabha and
Rajya Sabha

President and Lok Sabha only
President and Rajya Sabha only

©)
(D)

In which year the Rashtriya Mahila
Aayog was founded?

(A) 1991

(B) 1992

1993

(D) 1994

By which Constitutional Amendment
Act, women are provided reservation
in Panchayat Raj Institutions?

(A) 71%t Amendment

(B) 72" Amendment

(C) 73™Amendment

(D) 75™ Amendment

P.T.O.
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146. wdiea =raera § dedf e o Frfe

147.

148.

149.

forTes ST @ 3 WA §?

(A)  TEfer GRT

(B) 9RA & H&T ~IRIENY & WY W
RTafer GRT

(C) ¥RA & W& =AM GRT Iy
- @ ud wedfa ¥

(0) fafer w5 gwr

Wﬁmﬁwﬁm‘ﬂﬁ%@
TR fsar s &

(A) US HE & I

(B) T AIE & 3R

(C) & AIE & 3FX

(D) U©® A1 & 3R

ST MEAT are (1992) foreay wraferg &2
(A) gl sl '

(B) 3Ffud e ¥

(C) 3+ Tuwer arf &

(D) 3IRD A F DY &I

oI vl ug sradva=ell &1 areaae
21" fam wer o,

(A) @rgdHe

(B) &fim

(C) BR®X

(D) IR Y I

150.

e & & s & angfre R amfes
T & VS-S & fordr oy &7

(A) faur-famet fafy

(B) ww=r-wwTen fafey

(C) wanTemem fafér

(D) -3RrH Ty

SET-C
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XXI-2

146. Who is able to appoint the adhoc judges

147.

148.

149.

150.

in the Supreme Court?
(A)
(B)

(©)

President
President with the advice of C.J.1.

Chief Justice of India with the

previous consent of the President

Law Minister

(D)

A proclaimation of emergency must be
placed before the Parliament for its
approval -

(A) within one month

(B) within two month

(C) within six month

(D) within one year

‘Indra Sahani Case' (1992) is associated
with whom?

(A) Scheduled Castes

(B) Scheduled Tribes

(C) Other Backward Classes

(D) None of the above

"Social Studies is a study of relations
and inter-relations, historical,

geographical and social." Who said this?
(A) Michell

(B) Hemming

<
(D)

Forrester

None of the above

Which of the following contemporary

method is applicable for the teaching .
of the Social Studies?

(A) Discussion method

(B) Problem solving method
(©) ‘Laboratory method

(D) Al of the above
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| XXI-2

6. ¥ T 1 Y 30 T B T A e v 6. Question Nos. 1 to 30 are related to Child
fRreror fas & wwafera € Development and Pedagogy.

7. W EEHT 31 60 I B U HHT werH-fE= 7. Question Nos. 31 to 60 are related to First .
3rran 3ieh F atud &) s A Hac vd language - Hindi OR English. Candidate has
Wimﬁw Wﬂi wq f; aaaﬂfrﬂ to select the questions of only one language as
31T 39eT 95 % IR TR WIS o the First language. Answer the questions of the
¥ ueT = B ' language which the candidate has selected as

First language in his/her application form.

8. U W 61 ¥ 90 db & W WTHT fedra- 8. Question Nos. 61 to 90 are rclated to Second
fo<) -3rerar 3RS SroraT WP SRrET 38 A language - Hindi OR English OR Sanskrit OR
Tl g1 399 | $del Uh 9N B e & Urdu. Answer the questions of only .one
ST B & w9 ¥ 8 9 £ el smed language which the candidate has selected as

Second language in his/her application form.

T & HER Tata g e g
| & W) 6 JoF ww & w0 A waf
v, fgdi mer & w9 @5 o S

0 Uog §E& 91 ¥ 150 O & U TN vd 9. Question Nos. 91 to 150 are related to

Be careful that the language selected as First

language cannot be taken as Second language.

firsm= o1 SSTe 3reaod & gted 2 Mathematics and Science OR Social
Studies. ,

10. 3rTRtl @ 59 we UF & T vd fasmE w 10. The candidate has to answer the subject
m eI 9 3 faua & =T Gl . Mathematics and Science OR Social
== B &, B Rwa @ 9ae el 3 - Studies as selected by the candidate in the

Nt ff' S application form.

11. 36 o Wgﬁﬁ?ﬂ ¥ FBfte wre ) ar ~11. Rough Work can be done in specified space of
5T OHar el the Question Booklet.

12. w9 U9 Bl < § 99 % 7 Y| afe ﬁ's;‘ 12. Do not waste time in splving the questions. If
w7 37ET & a7 3 99 | SR you cannot answer a question, proceed to the

next one. ‘
13. 3NOPHONRO ITR TP By A wwal 3R T & 13. Do not fold or damage the OMR answer sheet
. 3 Fraa oY any way.
14, GRem T BN W 3NOTHO3TRO IR UFD [4. After examination submit your OMR answer
o1 war Frlers @1 sraga g &1 snafiEl @ sheet to the invigilator. Candidates are allowed

to take away the carbon copy of OMR answer
sheet and Question Booklet.

IR e O DT W e Fe-gReT 3
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